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SAMPLE QUESTIONS3

Three puzzle pieces fit together as shown below:

Which of the given pieces could fit into the top left corner? 
Note: You can rotate the pieces.

 
A. Only P 
B. Only P and Q 
C. Only P, Q and R 
D. P, Q, R and S

Correct Answer: Option D

COMPUTATIONAL
THINKING

Amar, Bob and Clara are playing a word-game. They have to say a word that starts
with the last letter of the previous word. So if Amar says 'water', Bob can say 'rice',
as 'water' ends with the letter 'r' and 'rice' starts with that letter.

 If Amar says 'eight', Bob says a word and then Clara says 'ten', what can Bob's
word be?
 
A. neat 
B. nine 
C. tent 
D. twelve

Correct Answer: Option C

Tiki and Taka are standing on two sides of a room with 5 towers made of boxes
between them. Each tower has a different number of boxes from 1 to 5. A taller
tower will perfectly hide a shorter tower behind it.

If Tiki and Taka are standing as shown, how many towers can each one see?
A. Tiki: 4 towers Taka: 3 towers
B. Tiki: 4 towers Taka: 2 towers 
C. Tiki: 3 towers Taka: 2 towers 
D. Tiki: 5 tower Taka: 5 towers

Correct Answer: Option C
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SAMPLE QUESTIONS3
COMPUTATIONAL
THINKING

If we divide the following figure into 4 equal parts such that each part looks the
same, we get the following:

Using the same idea, if we divide the following figure into 4 parts, what will each
part look like?
 
 (Note: you can rotate a part but not change the position of the blocks)

Correct Answer: Option C

Wasim is playing a game of 'spin the wheel'. He gets a number each time he spins
the wheel.:

He spins the wheel twice. After the first time, he notes down the SHAPE and the
second time he notes down the COLOUR next to the number from the table
below. Based on this, for example if he spins the wheel twice and gets a 4 and a
1, he draws a HEART in WHITE colour.

Wasim spun the wheel twice and got a 6 and a
3. What would he draw as per the rule?
A. a blue triangle 
B. a blue rectangle 
C. a purple triangle 
D. a purple rectangle

Correct Answer: Option A

A group of 4 friends have 4 pets - a cat, a parrot, a fish and a dog. The group has 2
boys named Sayyed and Subodh and 2 girls named Shireen and Sharanya.
We have the following clues:

1. Each friend has a different pet.
 2. No girl has a dog.
 3. Shireen's pet has 2 legs.
 4. Both Sharanya and Sayyed do not have a
fish.

(Use this table to mark the correct owner-pet combination with a tick and the
wrong ones with a cross)
 
 Who has the cat?
A. Sayyed 
B. Subodh 
C. Shireen 
D. Sharanya

Correct Answer: Option D
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COMPUTATIONAL
THINKING

Wordle is a fun word game that has become popular recently. The objective of the
game is to find a 5-letter word within 6 tries. For every guess, the system will
show if a letter is in the word and if it is in the correct spot. 

For example, IF the system showed the following after a person guessed WATER
as the word:

THEN

The letter A is in the word and in the correct spot.
The letter R is in the word, but not in the correct spot.
The letters W, T and E are not in the word.

So, the correct answer could be RAPID (R in another spot, A in the same spot
and no W, T or E), but it cannot be RAISE (since it has an E) or ROAMS (since A is
in a different spot).

In which of the following sequences can "SLEPT" be the answer?

Correct Answer: Option B

A mathematician drew the following sequence of triangles for his students:

(Note: The triangles shown here are not drawn to scale.)

He started with a triangle of sides 2, 3, and 4 units. Then he drew a triangle of
sides 3, 4, and 5 units, and so on. When he finished, the last triangle was of sides
10, 11 and 12 units.

There are some sides that appear in 3 different triangles. For example, side of
length 5 units appears in triangles having sides as (3,4,5), (4,5,6), & (5,6,7).

In total, how many such sides are there in this sequence?

A. 6 
B. 7 
C. 8 
D. 9

Correct Answer: Option B

Sneha's mother planted five of Sneha's favourite flower seeds in a row: Rose,
Tulip, Daisy, Sunflower, and Lavender. She left the following clues for Sneha to find
out which flower would grow where:

 1. The Rose is planted to the immediate right of the Lavender.
 2. The Tulip and Sunflower seeds are next to each other.
 3. The Daisy is not at the first nor in the last position.
 4. The Sunflower is planted to the left of the Daisy.

 Which order were the flower seeds planted in?
A. Tulip, Sunflower, Daisy, Lavender, Rose                    
B. Tulip, Lavender, Rose, Sunflower, Daisy                     
C. Lavender, Rose, Daisy, Sunflower, Tulip                     
D. Tulip, Sunflower, Daisy, Rose, Lavender

Correct Answer: Option A
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SAMPLE QUESTIONS4
COMPUTATIONAL
THINKING

Aisha loves reading about Indian history and came up with a fun puzzle for her
brother Bilal. Aisha: Here are 4 battles in Indian history and 4 years, but they are
NOT matched correctly with each other.

Here are some clues to help you:
 1. The Battle of Haldighati and the Battle of Wan were separated by 150 years.
 2. The Battle of Plassey was fought more than 200 years after the First Battle of
Panipat.
 3. the Battle of Haldighati was fought 50 years after the Battle of Panipat.

 Which of the following battles must have been fought in the year 1576 AD?
A.The Battle of Wan                               
B.The Battle of Plassey                           
C.First Battle of Panipat         
D.The Battle of Haldighati

Correct Answer: Option D

A.     2
B.     3
C.     4
D.     5

Correct Answer: Option A

The hanging decoration below is called a 'mobile' where you hang different
shapes on threads and try to balance both sides.
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SAMPLE QUESTIONS7
COMPUTATIONAL
THINKING

There are 110 marbles in a jar, some white and some black. There are 100 MORE
white marbles than black marbles. How many black marbles are there?

A.5                             
B.10                           
C.90                           
D.  100
Correct Answer: Option A

If the first gear starts to move in the direction shown, in which direction will the
bucket attached to the gear move?

A.up                           
B.down     
C. (The bucket will not move.)              
D.   (It is not possible to determine the direction in which the bucket would move.)

Correct Answer: Option B

Engineers use gears when they want to transmit motion from one part of a
machine to another or change the direction of motion between certain parts.

 Here is how two gears move based on how they are connected:
 1. Directly connected: The two gears move in opposite directions.
 2. Connected by an open belt: The two gears move in the same direction.
 3. Connected by a cross belt: The two gears move in opposite directions.

In the given boxes, each circle, square and triangle has a value attached to it.
The value of each shape is added to get the total value of the box.

The given figure has 6 items inside it. They could be circles, triangles or squares
and their total value is 20.

How many squares must it have?
A. 1 
B. 2 
C. 3 
D. 4

Correct Answer: Option C

'Prahar' is a Sanskrit term that refers to a unit of time in ancient Indian
tradition. It represents a part of the day, approximately 3 hours long. Rohan
wanted to measure time in prahars. He bought a few candles, each of which
would burn for exactly 3 hours. He would light a new candle after every 3
hours to keep track of the prahars. 

Rohan lit the first candle at exactly midnight and continued lighting new
candles every 3 hours.

If 16 hours have passed after he lit the first candle, how many candles has he
lit so far?
A.5                              
B.6             
C.15           
D.  16

Correct Answer: Option B
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A.204                         
B.200         
C.198         
D.196

Correct Answer: Option C

COMPUTATIONAL
THINKING

In a certain video game, commands are given to a robot mouse to make it move
on the screen. The mouse understands 4 commands:

If the repeat block in the video game is NOT working, how many commands are
needed for the mouse to eat ALL nuts in the below 50x50 grid?

(Note: 100 paise = 1 rupee.)
Sometimes people request for 'small change', i.e. they exchange a larger value
coin for smaller value coins that add up to the same amount. For example:

One day, Pratima had 6 coins that added up to 1 rupee and 15 paise. But she found
that she did NOT have the exact change for 1 rupee or for 50 paise or for 25 paise
or for 10 paise in smaller coins. 

What coins did she have?

For example: If the mouse has to eat all the nuts in the below grid, the following
commands are given.

Radha's grandmother Pratima told her that in the 1970s and 1980s many small
value coins were widely used in India. Some of these are shown below.

Correct Answer: Option D
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SAMPLE QUESTIONS7
COMPUTATIONAL
THINKING

We can depict 9 * 2 and 9 * - 2 using the expression trees shown below: 

Identify the most appropriate expression tree for the expression given below:
(45 / 3 – ((3 * 5 + 6) / (25 / 5 + 2)))

Note that expressions include the order in which operations have to be performed. 
So, Figure 1 denotes 3 + (9 * 2) while Figure 2 denotes (3 + 9) * 2

Correct Answer: Option D
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COMPUTATIONAL
THINKING

The GDP (Gross Domestic Product) can be understood in simple language as the
'amount of wealth or value created by a country in a given period'. The following
chart shows how this wealth creation was distributed in the world from 1 AD to
2008 AD (i.e. across roughly 2000 years). The HEIGHT of the graph of a particular
country or group shows the share of their GDP at that point in time. For example,
in the year 1 AD the share of wealth of India is roughly 40% (60% - 20% of the total
wealth in 1 AD).

(Notice that the 'jump' between successive year-values is not the same
throughout 1 AD to 2008 AD.)

Among the given years, in which year did Germany have the HIGHEST SHARE of
GDP?
A.1970                       
B.1950                       
C.1913                       
D.1820

Correct Answer: Option C

The table below shows some English phrases and their Greek translations. The
phrases are IN JUMBLED ORDER.

(Note: Words in Greek have masculine and feminine forms (e.g. Dilitiriódes vs.
Dilitiriódis). This is NOT a typo/printing error.) 

Which of these are words for colours in Greek?

A. Mávro 
B. Mávro & Kafé 
C. Sérnetai & Kafé 
D. Mávro & Dilitiriódis

Correct Answer: Option B

Based on the table above, which of these COULD be the Greek translation of
'Black Widow Spider'?

A.Mávro fídi chíras                 
B.Kafé fídi aráchni                  
C.Mávri chíra aráchni             
D.  Kafé myrmínki chíras

Correct Answer: Option C
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Arav initially arranged 10 cards with 10 different letters on them as shown:

Each letter is located at an index 'i', which goes from 1 to 10.
 For example, the letter at index i = 9 is 'Y'.
Arav starts from index i = 1 and swaps the card at i with the card at i + 3. So in step
1, the sequence will be: 'JFHELMQTYZ'. Then he swaps the card at i = 2 with the
card at i + 3 and so on.
 
 Which letter will FIRST replace the letter Z?
A. Q 
B. J 
C. E 
D. Z will never be replaced

Correct Answer: Option C

COMPUTATIONAL
THINKING

Pipelining is the process of doing as many things at the same time as possible, to
save time. In a certain automobile factory, cars are assembled at four stations in
the following order:

 Station 1: Engine Installation
 Station 2: Body Assembly
 Station 3: Paint Shop
 Station 4: Quality Check

 A car must pass through all 4 stations. A station can only work on 1 car at a time
and it takes 1 hour for each station to finish working on a car. Three cars -
Thunder Tracer (TT), Shadow Sprinter (SS), and Cosmic Cruiser (CC) - are to be
assembled IN THE SAME ORDER.
(As a clue, the graph below shows the journey of Thunder Tracer (TT)).

If you start a timer when the Thunder Tracer enters Station 1 and stop it when the
Cosmic Cruiser exits Station 4, how many hours would have passed?

A. 4 
B. 5 
C. 6 
D. 7

Correct Answer: Option C

In a word game, the value of A is 1, B is 2, C is 3... and Z is 26.

The total score for a word is calculated as follows:
 1. Add the values of all letters that appear ONCE.
 2. If a letter appears MORE THAN ONCE, multiply its value with its 'repeat number'
at each position. For example: The total score for the word 'BANANA' can be
calculated as shown
 in the table below.

Total score = 2 + 1 + 14 + 2 + 28 + 3 = 50.

Among the given words, which one would score the highest?
A. SPOKE 
B. SPOON 
C. SPORT 
D. SPOTS

Correct Answer: Option D
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